# Addition Sentence 

## Addition Sentence

An addition sentence is a mathematical expression that shows two or more numbers being added together, with an equal sign separating the sum from the numbers being added.


Example 1: Find the addition sentence.

$$
5+3=?
$$

## Solution:



Therefore,

$$
5+3=8
$$

## Example 2:

Find the addition sentence.

$$
4+5=?
$$

## Solution:

Therefore,

$$
1 \quad 2 \quad 3
$$

4
5
67
8
9

$$
4+5=9
$$

Example 3:
Find the addition sentence.

$$
2+1=?
$$

Solution:

$$
\begin{array}{rl}
\begin{aligned}
2+1 & = \\
& = \\
\text { fore, } & 2
\end{aligned} \\
\qquad 2 & 2
\end{array}
$$

Therefore,

## Example 4: Find the addition sentence.

$$
6+?=8
$$

## Solution:

To find the addend 2 , use subtraction and rewrite the sum as Addend $2=$ Sum - Addend $1 \quad 8-6=$ ?
$8-6=$
$8-6=2$
2 is the addend 2
Addend 1 + Addend 2 = Sum
Therefore, $6+2=8$

Example 5: Find the addition sentence.

$$
4+?=7
$$

## Solution:

To find the addend 2 , use subtraction and rewrite the sum as
Addend $2=$ Sum - Addend $1 \quad 7-4=$ ?


7-4 = 3
3 is the addend 2
Addend 1 + Addend 2 = Sum
Therefore, $4+3=7$

## Example 6:

Find the addition sentence.

$$
3+?=4
$$

## Solution:

To find the addend 2 , use subtraction and rewrite the sum as Addend $2=$ Sum - Addend $1 \quad 4-3=$ ?
$4-3=Q>8=?$
$4-3=1$
1 is the addend 2
Addend 1 + Addend 2 = Sum
Therefore, $3+1=4$
Example 7:
Find the addition sentence.

$$
2+?=6
$$

## Solution:

To find the addend 2 , use subtraction and rewrite the sum as Addend 2 = Sum - Addend $1 \quad 6-2=$ ?

6-2 =


6-2 = 4
4 is the addend 2
Addend 1 + Addend 2 = Sum
Therefore, $2+4=6$

